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39-Scientists use certain.......... to carry out their experiment.
1) developments 2) instruments
3) improvements 4) excitement
40- When the raining was heavy, we found a............. and went
under it.
1) patience 2) collection
3) shelter 4) extension
41- Amir won't play tennisand hissister................
1) willl neither 2) will either
3) neither will 4) won't either
42- He said that he........... to the movies the following night.
1) will go 2) goes
3) would go 4) have gone
43- Sheisthe.......... principal of our school.
1) assist 2) assistance
3) to assist 4) assistant
44- The buswas crowded so |......... my seat to the old woman.
1) left out 2) gave up
3) took out 4) looked up
45- Theacid rain.............. trees and Kill fish in lakes and
rivers.
1) damages 2) annoys
3) invades 4) offends
46- Oil isnot............... in water and stays on the surface.
1) solution 2) soluble
3) solve 4) solvable
47- She promised metofinish ... theletter in afew minutes
1) type 2) to type 3) typing 4) typed
48- It'seasier ....cccoeuen. adiseasthan to cureit.
1) to pretend 2) to prevent
3) to protect 4) to provide
49-A....ee. part of our knowledge is obtained through reading.
1) comfortable 2) considerable
3) correctable 4) changeable
50- A language student is............... with the components of the
language that helearns.
1)regular 2) peculiar
3) familiar 4) similar
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